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INSTRUCTIONS FOR THE CANDIDATES :

1. The OMR Answer Sheet is inside this Test Booklet.

When you are directed to open the Test Booklet, |
take out the Answer Sheet and fill in the particulars
carefully with blue/black ball point pen only.

. The test is of three hours duration and consists

of 200 questions. Each question carries one mark.
There is no negative marking.

. Use Blue/Black Ball Point Pen only for writing

particulars on this page/marking responses in the
Answer Sheet. The candidate should remain careful
in handling the question paper and in marking the
answers on the answer sheet. Another booklet set
will not be given. '

. Also ensure that your Test Booklet Serial No. and

Answer Sheet Serial No. are the same. In case of
discrepancy, the candidate should immediately
report the matter to the Invigilator for replacement
of both the Test Booklet and the Answer Sheet.

. This Test has three Parts :

Part] :Mental Ability Test (MAT) ~
Part-II : Language Test (Hindi/English)
Part-11I : Scholastic Aptitude Test (SAT)

(Q.1to0 Q.50)
" (Q. 51 to Q. 100)
(Q. 101 to Q. 200)

. Language Test is treated only as a qualifying test.

Marks obtained in Languages test will not been
included in the Total Marks. =
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7g 1 ' last page of this Booklet.
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PART - I (¥ - 1)
MENTAL ABILITY TEST

i draar wer

Questions : 1 to 50

Direction : (Q. No. 1 to 7) 39T < (497 o 1 A 77%)
Select the right alternative which will YEA Fl or F7 TR fET 3 3?%’@7}
complete the series.
I. -np -l-prl-pr-n- 1. -np -l-prl-pr-n-
(1) Inlnlir (1) ln-ln Iy
(2) Irnnlp (2 lrnnlp
@) plpprn 3 plpprn
4 plplinr ‘ 4 plplInr
2. X-yyz-xzy-zx-2zy-2X- 2, X-yyz-Xxzy-2zX-2zy-2ZX -
(1) zZxyxyx (1) zxyxyx
(2) zyxyxz (2) zyxyxz
(3) yxzxyy (3) yxaxyy
(4) yzyxxx (4) yzyxxx
8. QKF, ?, KGD, HEC 3. QKF, 7, KGD, HEC
() LHE (1) LHE
(2 NHF _ (2 NHF
(8 MHG (3) MHG
4 NIE ' 4 NIE
4. EVFU,HSIR KPLO,? | 4 EVFUHSIREKPLO,?
() MNNM ) " (1) MNNM
(2 LOMN (2) LOMN
B NMOL (3 NMOL
(49 NSOR (49 NSOR
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3

. 95,72, 52,7 21, 10

() 29
(2) 32
(3) 35

(4) 38

. 7. 16, 82,67, 138,?

(1) 257
(2) 263
(3) 279

(4) 281

. IfC=3and DOG = 26, then TIGER =?
(1) 43
2 48

@) 57
(@) 59
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. 95,72, 52,721, 10

(1) 29
(2) 32
(3) 35

(4) 38

. 17,15,32,67,138,7

(1) 257
(2) 263
(3) 279

(4) 281

. Ifr =3 3R DOG =26, A TIGER = ?

(1) 43
(2) 48
(8) 57

(4) b9



9. In a row Ravi is 8th from the right,

10.

11.

12,

Mohan's place is 7th from the left side
and Anil is sitting in between the two.
Find the minimum number of boys
sitting in the row. ‘

(D 12

2). 14
3) 15
(4) 16

From the given alternatives find the

word which cannot be formed by

using the letter of the given word
EXPERIENCE

(1) EXPIRE

(2) RIPEN

(3 EXPERT

4) PRINCE

From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

(1) CENTRE

(2) GENTLE

3 CANCEL

4 LEGAL

Ifin a certain code language "HORSE'
is written as 'JMTQG', how would
'POWER' be coded-in the same code ?

() QPXFS
(2) NQUGQ

(3 RMZDS

(4 RMYCT
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10.

11.

12,

A M Al ol & o e
W, W A o ¥ W e 9t g
W%H%T%@aﬁa%%|ﬁ5ﬁ$ﬁ
A5 5 a2 R ¥ 2
1 12
@. 14
3) 15
4) 16

Ry m Reedt & @ 99 o2 @
R Ru T o 3 o a1 wan
7E] 99T AT Gl | _
EXPERIENCE

(1) EXPIRE

(2 RIPEN

(3 EXPERT

(4 PRINCE

Fe el & & o9 9= @ gfA
R Re 0 o= & o a1 @ 3
T S §HaT ©
INTELLIGENCE

(1) CENTRE

(2 GENTLE

(3 CANCEL

(49 LEGAL

g W gz wwr ¥ 'HORSE' @
IMTQG' ferar o 2, @t ot gz s
7 POWER' Pbel wr forar s 7
(1) QPXFS '
(2 NQUGQ

3 RMZDS

4 RMYCT

P. T 0.

Il -
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10.

11.

12,

Mohan's place is 7th from the left side
and Anil is sitting in between the twa.
Find the minimum number of boys
sitting in the row. '

(1) 12
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3y 15
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From the given alternatives find the

word which cannot be formed by

using the letter of the given word
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(8) EXPERT
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From the given alternatives find the

word which can be formed by using

the letters of the given word :
INTELLIGENCE

() CENTRE

(2 GENTLE

(3 CANCEL

4 LEGAL

Ifin a certain code language "HORSE!

is written as 'IJMTQG', how would -

'POWER' be coded-in the same code ?
(1) QPXFS
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3) RM ZDSs

(49 RMYCT
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(5)

10.

11.

12,

). 14
@ 15
(4) 16

R m Reedt & @ 59 o= @
P BT T o= & ol 1w
7E] SE A1 FeET |

EXPERIENCE
(1) EXPIRE

g
FS

(2) RIPEN

3) EXPERT
(4) PRINCE

Ru T feedt § @ o9 o= @ gfA
P Re 10 o= & ot & v 3
SN S FqHAT ©
INTELLIGENCE

() CENTRE

(2 GENTLE

(3) CANCEL

(49 LEGAL

g @ Fr ww ¥ 'HORSE =
IMTQG' frar i 8, &t ot gz s
¥ 'POWER' f5q 5 Rrar s ? -
(1) QPXFS '
(2 NQUGQ

3 RMZDS

(4 RMYCT

LFY -
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A
Direction : (Q. No. 13 & 14)

These questions are based on the following
information : ’

Sachin walks 12 km towards East and turns
to his right and walks 8 km. Then he again
took right turn and walks 6 km.

1
13. How far is Sachin from the staing
point ?
(1) 6km
7 . (2 8km
' 3) 10 km
{4) 12 km

14. In which direction is Sachin going at

the end ?

(1) East (2) West

(8) North (4) South
Direction : (Q. No. 15 & 16)

These questions are based on the following
information :

Five girls are sitting in a circle facing to the
centre. Seema is sitting immediately to the left
of Veena. Anjali is sitting between Dipti and
Veena. Babita is sittirig to the right of Dipti.

15. Who is sitting between Babita and
Anjali ?
(1) None
(2) Seema
(3) Veena
(4) Dipti

NTSE(Level-1) Exam. Nov. — 2015

(8)

frder « (99 Ho 13 wd 14)
3 o7 Freafre g W SR & -

A g @ e 12 Bl o @ el
AR geat 8 fhll. Twar 81 9% B Al e
gear 8 aiX 6 f6. M. = B

13. GfF o yRfWE WE d B @
g7

(1) 6. =@
(2) 8. .
(3) 10f%. .
(4) 12 . .

14. G &g o fFg Rem & ofiv o1 @

B

1) & (2) wf¥=Ew

(3) SWX (4) sfErer
fder : (957 Ho 156 T 16)

3 e Freafired g 9C oTEIRT & -

dr W @ 9§ B @ oK IF 5 8

B A, & B O gl oIk ¥ ') S
¥ 2 AR ok A @ dm ) R ¥ %
dftg & < i

15. af¥er ok ol & 9w ¥ a9 ¥
g ? ‘ :
1) P T ) ’
(@ dm '
(3) 4T
(4 AT



A

Direction : (Q. No. 19 & 20)

Study the trend of the numbers and find the

missing number from the given alternatives.

19,

' 920.

12 7 11
10 . 6 14
8 17 ?

(1) 3 @) 4

@) 5 @ 6
3 4 36
4 6 96
6 ? 252

(1) 3

(2 5

3) 6

@ 7

21. Suresh and Kailash are brothers.

Rajani and Shubhra are sisters.
Suresh's son is Shubhra's brother.
How is Kailash related to Rajani ?

(1) Father
(2) Uncle
(3) Brother

(4) Nephew

NTSE(Level-1) Exam. Nov. - 2015

(8)

w2

Fréer : (w57 do 19 W 20)
qEsT 2 Fakr @ oreaT e Y R W

fedt & & g qer sa #org |
19. 12 7 11
10 | 6 14
8 17 ?
(H 3 2 4
3) 5 4) 6
20. [ 5 4 36
4 6 96
6 ? 252
@ 3
@ 5
@3 6
@ 7
21. T A F@w WE ¥ e M g
Tt B W WO YA WO R

mﬂmﬁ.ﬁwwa%?

(1) R
(2) 9r=n
3) 9
(4) o

—



22. In the figure given below which

number represents Honest and
Hardworking Youths ?
t
Hones | Hard
working

1 7 @ 6
@ 5 4 4

23. In the following equation, two signs
need to be interchanged to make it
correct. Choose these signs from the
given alternatives.

36+6x10+5-2=63

(1) +and—
(2) +and~+
(3) xand +
(4) —and x

24. If '+' means '%, '-' means '+, 'x'

means -, and '+' means '+, then
16+66—-4x2+2=7

(1) 14

(2) 22

(3) 26

(4) 72

NTSE(Level—l) Exam. Nov. - 2015

(9)

22,

23.

24'

A
i R sma § 99 @ o SRR
AR uftandt gast 1 aufar & ?
1% 3%
43;65
éllﬁli 2 T/ 3 _qﬁm:
@ 7 2 6
@) 5 (4 4
Pl gl @ 98 s @ R @

Rl # oRd-agd F # NETHA
3Ry Rt ¥ ¥ 7 R @

g
36+6x10+5-2=63
(1) +alR-
2 +9R=
(3) x&lv+
4 -3 x
R+ T &, ~FaF T, W
Had e i wmad o @
16+56—4x2+2=7
(1) 14
(2) 22
(3) 26

4) 72

P 0.



A (10)

25. Atul is younger than Rajesh but elder 25, Hga g ¥ og q o @ % S
than Jagan and Suman who is elder i ga+ q BEl T oEm R EE:PI gl
than Shyam. Priyanka is elder than i ofemmer @ &2t 8 g wam g
Avinash but younger than Shyam. Brel | g ¥ e gEq 997 ol wad
Who is the eldest and youngest of all BT HiF & 7
respectively ?

(1). Rajesh - Avinash (1) = - A
(2) Atul - Avinash (2) ofge - e
(3) Rajesh - Priyanka (8) o - B
(4) Atul - Suman (4) g - gad

26. Identify the diagram that best | - 26. 98 o@ gL st 4R Ru m & 3
¥

represents the relationship among ; &9 T ey F 98 e &
classes given below : ’

Guava, Mango, Fruits - &, M, HH

«O00 | w000
SO - @®°

NTSE(Level-1) Exam. Nov. - 2015



Direction : (Q. No. 27 & 28)

Take the given statements as true and decide
which of the conclusions logically follows
from the statement :

27. Statements:

1. All tables are chairs.

2. No chair is a pen.

Conclusion : I. No table is a pen.
II. Some tables are pens.
IIT. All pens are tables.

(1) Only conclusion I follow

(2) Conclusions I and III follow

(3) Conclusions II and III follow

(4) Conclusions I, IT and ITI all follow

28. Statements :
L. A penis equal to Pencil.
II. Pencil is longer than Book.

III. Book and Pen are not greater
than or equal to Rubber.

IV. Bag cén contain Book.

Which of the following inference is
correct ?

(1) Bag may or may not contain
Rubber.

(2) Pen is not longer than Book.
(3) Pencil is equal to Rubber.

(4) Pencil is greater than Rubber,

NTSE(Level-1) Exam. Nov. - 20156
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B

A
3% : (997 Ho 27 ©d 28)

ﬁ?WWﬁWWW%WW
T G 27 7 7 g wr 8 fwd
&

27. FYT :

L&l o i ¥

2. HE o 5l om wd By

e o 1. a8 4§ 3 o w8 B
IL %8 A5 o ¥
iu.mﬁwﬁﬁ%l

(1) %9 frepd T P &

2) Frepd 1 el 11 ey £

(3) frepd 11 ot 111 Py &

@ =R 1 11 &R 10 ot el ®

28. T :
I & &R Ufea gam &
I e g @ @t B

L. §&% SR o @5 § 98 a1
T 2|

IV. 9 & q&is & o wedt B

Fefifes & & dmar foed we?
g7

) & F W # @ A T @ o
ETS I

(2) *TH, J&% & o= 76 &)
(3) e W $ gum B
(4) UFEd e @ 99 &

P‘ T. 0'



A (12)

29. Select the answer"ﬁguféf which is
exactly the mirror image of question
figure when mirror is held at xy.

Question Figure :

NECK] |
® [NION
@ [N3CH
@ (AOJdWU
@ [XO3IN

30. Choose the correct answer figure to
complete the given matrix.

OF:\
A B
A [N PRT

? A
NN
@®) ?57:$?‘7’_

NTSE(Level-1) Exam. Nov. - 2015

29. IA IW OTH H I A g R
mﬂﬁmqﬁfﬁw%,madﬂuy%@

T fer &
97 BT :

< TRREREEESS %
<

NECK
(1 N30X1

@ [NIACA
@ (N0

“ IHNO3AN

30. I IO N B g o & Az
QA B

D A
A
S

(2

SN
- ® §§7 @

W~



. How many triangles are there in the

following figure ?

(4) 25 or more

(1) 15
2 20

(3) 24

32. Among the four answer figures, which

one can be formed from the cut out
pieces given below in the Question
Figure ?

Question Figure :
Joas]

- © D

D+

NTSE(Level-1) Exam. Nov. - 2015
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31+ & T el F e P ¥ 7

32,

A

(1) 15
(2 20
(3) 24
(4 2531 Hiys

PEO,



338. Which answer figure will complete
the pattern in the Question Figure ?

m | / @+

@ r 1 @ 1

34. From the given answer figures, select
the one in which the Question Figure
is hidden/ embedded :

Question Figure :

Y’

(D (2)

(3) : 4)

NTSE(Level-1) Exam. Nov. — 2015
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33. HA-H W oy 9 gl & uRrew
# g 0 ?

(1)

3)

(1)

(4)

(2)

B

L=



Direction : (Q. No. 85 to 41)

Select the related letters/number/ﬁgure

from the given alternatives :

35. GJMP : FHJL :: FILO : ?
(1) EGKI
(2) EGIK
(3) GEIK
(4) GEKI

36. JHFC:bGgK :: ?: tWvyY
(1) ZVUs
(2 XUVW
3 XuvrT

4 XWVU

37. PALE:LEAP: POSH :*
(1) OPHS
(2) SHPO
(3) SHOP
(4) HSPO .

38. 508:621:7: 470‘
@) 887

®) 367

@ 875

(9 402"

NTSE(Level-1) Exam. Nov. — 2015
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F&sr : (997 Ho 85 @ 41 %)

A

Re T Redl 7 @ aaia o e oy

g7 .

35, GJMP : FHJL :: FILO : ?
(1) EGKI
(2) EGIK
(3) GEIK
(4) GEKI

36. JHFC:bGgK :: ?: tWyvY
(1) ZVUSs
@ XUVW
@) XUvrT

4 XWvVU

37. PALE :LEAP :: POSH :?
(1) OPHS
(2) SHPO
- (3) SHOP
(4) HSPO .

38. 508:621:7: 470
Q) 357 _.
@ 367
@ 815
@ 402

P T. 0.



A : (16)

39. 17:136::7:162 | 39, 17:136:7:152
(1) 18 (1) 18
2 19 (2) 19
3) 21 . 3) 21
4) 23 . g - 4) 23 « .

40, 343 :7:729:7 40, 343:7::1729:7

1 6

1 6
(2 8 2 8
@ 9 @ 9
4 13 4) 13

» Aéa‘&&&“%‘? | = A@A:&A&“%‘?

o oD o oO(D
@ B @ @
. .
3 O (3) O
: :
: S
4 S (4)- %
& i

NTSE(Level-1) Exam. Nov. = 2015



Direction : (Q. No. 42 to 48)

Select the one which is different from other

three.

42,

43.

44.

45.

46.

NTSE(Level-1) Exam. Nov. - 2015

»
(2
3
4

(1)
(2)
3)
4

(1)

2
3
(4)

n

2
(3)
€))

i
@)
®)
@

FLHD
JPLH
PWRN

BCYX
GHTS
NOQP
VUEF

ANBO
1ZJY
ERFS
HUIV

43
53
.
73

9-16
21-30
35-44

47-56

(17)

T - (997 "o 42 ¥ 48 )
F7 gAY @ o7 T @ BT &

42,

43.

44,

45.

46,

®
(2
(3)
4

(1)
(2
3
(4)

(€Y
2

-3

()

(1
)

3
4

"
@
®
(4)

FLHD
JPLH
PWRN

BCYX
GHTS
NOQP
VUEF

ANBO
1ZJY
ERFS

43
53
63
73

9-16
21-30
36-44 -

47-56

P.T.O.



47,

48.

49.

50.

(1) 25-125
(2) 49-343
(3) 9-27

(4) 36-226
() \/\q @ NS

3 % (4) ‘KP

Amit is elder by 3 years to Rahul.
After 10 years Amit will be thrice his
present age and Rahul will be six

time of his present age. How old is
Rahul ?

(1) 5 years
(2) 4 years

(3) 3 years

_ (4) 2 years

Which number is wrong in the given
series ?

3, 12, 24, 96, 190, 768, 1536

(18)

S

47,

48.

49,

50.

(1) 25-125
(2) 49-343
(8) 9-27

(4) 36-226

aft omg & WEE & 3 a§ &1 B 10
af g S # Mg SN dqaH

@ forh o Uga #t ag o A
g A B YA B UG B OIY
g

(1) 5 a8

2 4 a9

(3 3T

4) 2 ¢

B dem & © guar ¥ 707§ 7

3, 12, 24, 96, 190, 768, 1636

1) 24 (1) 24
(2 96 (2) 96 - )
(3 190 @ 190
(4) 768 (4) 768

NTSE(Level-1) Exam. Nov. - 2015
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7Z : A.CLAR. e B U 1 3 woim 10 § 9191 & foshed Hgeq w¥ |

Questions : 51 to 100

T

PART - II (91T -
LANGUAGE TEST

qTHT qieqor
(fe=t_srem)

sttt

1)

\ .
Fdsr - (3% Ho 51 A 53 ) fA3sr : (9e o 54 wd 55) ;
ke 7@ o=t ar o= el # @ a@ efe @ T @ e 7w aw a7 T By
J& = # G aa@ o aarar &
i 54. (1) TEIqUT
1. s o
(1) 37 7 gam a $
: " .
@) s S B
@ s (4) TR
(4) g 55. (1) e
52. ﬁ&‘ﬁﬁ ©) Gﬂﬁfﬁ‘ﬁﬁ%
(1) S\
(3) ercitegiferT
(2) IS A
(3 Ty (4) e%mq‘rﬁﬁ
4) 39fF
® 56. YgifT Tady & 95 & 9W B
53. dINrERH ¥ RAl ve% avsm S a5 @ &
(1) wEfeT &1 g (1) B qesy
(2) S (2) T ey
(3) T are fear (3) T ey
(4) T & (4) PrafadeT ey
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A

57. frw o= ¥ 0 wom 7@ e ?

(1) e (2) fere

(3) g (4) ger[T
A : (as Ho 58 T 59)
Frfifee T & g aFg 7@ 8 qud s
T # 17 (@a g7 gaes gel e &
&7 7 gt I T F

58. (i)m%arﬁﬁﬂ%ﬁﬂ%f’ﬁ%’

..........................................

(1) =F F ded orger B
@) g F °5 F AR A AT ¢ |

(3) @Rl @ fenfenee Ha@ A4 Ae ol
gl

(4) aﬁmﬂﬁﬁnﬁmz‘%%y

59. () == oY Rl & waq wE Wi

e gY@ et & 99 4
(ii)
(i) FE G H T @ W o @

HE O B Fad

(1) FF F© H 9 G W oA @
5 Rgae |

(2) aﬁémwmmﬁrnﬁéwﬂm
T~ |

..........................................

- (8) F& T & B AR &F @l

(4)%@@@1@&7&@%&@
& el |
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60.

61.

62.

63.

I A FH =TI DT |
(1) wfdw ol dhew # a1 d@99 B

2) Hﬁﬂﬁ?ﬁﬁﬂ@?é&a%
(3) e &K siew &1 fana day &1
(4) died 3R sligd &1 g g9 B

“‘TTE” = B Gé Aot s ®
1) E+H|+T+HA+T+H
2 T+ T+EFEE+A+ G+ A
B B+J+FT+A+L+HA

(4 E+T+A+F+F+A+T+ A

Frefefaa & & gE= aof & 99 F
(1) .
@ @
@

4) H

e A § o Ay o e o @
e Sugsr AR @

(1) 8 F fig gy # A
(@) S gEE i T
(3) UF A B T A =G
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PART - II (9T - 11)

A

LANGUAGE TEST

AT qEGEToT

(English Language)

Direction : (Q. No. 51 to 55)

Read the following passage and answer the
questions given after it.

In a metropolitan city, the worst offenders
are the upper income group of the so-called
posh colonies. Though educated, the
residents of these affluent areas are
unaware of the damage done by the plastic
bags. Nearly a million children in the city
schools carry their lunch boxes in plastic
bags. They callously throw them away and
cause unhealthy environment.

As it is convenient for mothers to wrap the
food in plastic so it is difficult to persuade
therh against doing this. When the midday
meal scheme is fully implemented, it must
be seen that no plastic wrappers are used.
As these wrappers are light in weight, they
are born aloft by the wind causing visual
shocks. Unlike cotton or paper bags they
remain undissolved in the mud and stop the
rain water from seeping deep into the earth.
This affects the natural growth of greenery.

51. How do school children
metropolitan city spoil
environment ?

(1) They carry their lunch boxes in
plastic bags.

(2) They eat their lunch in the
_school.

(3) After eating their lunch, they
throw away the plastic bags
carelessly.

(4) After eating lunch, they don't
wash their hands,

in the
the
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52.

53.

|

Why is it difficult to persuade
mothers not to wrap the lunch boxes
of their school going children in
plastic bags ?

(1) Because children like colourful
plastic bags.

(2) Because the plastic bags cost
them almost nothing.

(3) Because if they don't do it, their
children get late.

-

(4) Because mothers find it

convenient to do so.

What care should be taken while

implementing the midday meal

scheme ?

(1) Parents should take an active

part in the scheme.

(2) No plastic wrappers should be

used.
(8) No child should be left unserved.

(4) No teacher should partake of the:
food.

P.T.0;



54. How do plastic bags affect the natural
growth of plants ?

(1) They don't let the roots absorb

water from the soil.

(2) They stop the light of the sun

from reaching the plants.

(3) They take up much of the water -

from the soil.

(4) "They stop the rain water from
seeping down intd the earth.

55. What is meant by the word

‘callously' ? ‘

(1) without anf feeling of pride

(2) without any feelinglof sympathy

(3) without any feeling of jealousy

(4) without any feeling of joy

Direction : (Q. No. 56 to 60)

Read the following stanza of a poem. and
answer the questions given after il.

A lily of a day

Ié fairer far in may,

Although it fall and die that night-

It was the plant and flower of light.

In small proportions we just beauties see:
And in short measures life may perfect be.
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56.

517.

58.

59.

60.

A By eromwa AN . ..o i v
(1) summer (2) winter

(3) spring (4) autumn

The life span of a lily is ....ccoeuiens.

(1) one hour (2) one month

(3) one year (4) one day

Why does the poet call lily 'the flower
of light' ?

(1) Because it is light in colour.

(2) pecause it is light in weight.

(3) Because it gives light.

(4) Because it gives joy and

happiness.

Perfection can be achieved

(1) in a few days
(2) in so many days
(3) in a short span of time

(4) in a long span.. of time

What is meant by the phrase 'small
proportions' ? '

(1) small objects

(2) small flowers

(3) small fruits

(4) small trees



Direction : (Q. No. 61 & 62)

The following five sentences come from a
paragraph. The first and the last sentences
are given. Choose the order in which the four
sentences (T, U, V, W) should appear to
complete the paragraph.

\61.‘9; S1 Dowry related crimes are on the

increase.
S2

S6 So all women should contribute in
washing out this stigma from the
face of our society.

T - Education of women is a must to
eradicate this social evil.

U - It also appears that this problem
has to be solved by women
themselves.

V - Most cases arise out of lack of
mental toughness among women.

W - The awareness . level of their
rights has to be raised.

(1) WVt.TT
(2 UVWT
3 TUVW

4 VTWU

»
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A

62. S1 Everybody agrees that something

should be urgently done to arrest
the rise of pollution.

S6 Besides, the laws of Buro 1 and
Euro 2 should be
enforced.

strictly

T - Yet not many people are really
doing something for it.

U - It is advisable to use a public bus
rather than a private car.

V - We should not use a vehicle
unless we must. -

W - We should try to minimize the
use of vehicles.

(1) TWVU
2 TUVW
(3 WVUT

@ UWTV



A
Direction : (Q. No. 63 & 64)

The following questions have the second
sentence missing. Choose the appropriate
sentence from the gii)en options to complete
it.

63. A. Thoughtless felling of trees and
indiscriminate deforestation has

played with rain cycle.

C. Otherwise, our earth will become
a barren and lifeless planet.

(1) On the Van Mahotsava day, we
should arrange meetings to think

about our country people.

(2) The deforestation has decreased
rainfall.

(8) Today we need to consume the
existing green cover and to plant

more trees.

(4) Our scientists should do-

researches on rain cycle.

64. A. Children usually play on the
roads and never bother about the

moving vehicles.
B- Cobtaddesdanbarinanes

C. They must not do so as they
ignore the vehicles coming and
going and risk themselves.
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(1) The road users and others must
not at any cost cut it short by
ignoring traffic rules.

(2) Life, indeed is very precious.

(3) Young people look at driving as

enjoying.
p

(4) Playing on the road is really
dangerous.

Direction : (Q. No. 65 to 72)

Choose the word which best fills the blank
from the four options given.

65.

66.

67.

In the north-east ......cocvicviieiiniien.
Mountains of _clouds could be seen

approaching.

(1) big (2) huge

(8) high (4) long
Rducation was safe and .........cooeen

from social evils earlier but this is not
true today.

(1) flourished (2) protected

(8) influenced (4) immune -

Abolishing  untouchability is a

PEAL e ommics s core... to the Father of
Nation.

(1) thank (2) trust

(3) tribute (4) tribe



68. Mahatma Gandhiji always exhorted
PEOPIB 10 .cooviviiviivainsiiis violence.
(1) shun (2) stop
(3) shut (4) stag

69. Nelson Mandela was pleasantly
...................... by dignitaries and

world leaders who were coming to pay
their respects.

(1) besieged
(2) behaved

(3) Dbestrided
(4) beleaguered

70. Polythene shopping bags and
wrappers are a big threat to our
sewer system. They can ............

drains and disrupt our sewer system.
(1) choc (2) chock

(8) chowk (4) choke

71. 'The Ramayana' is the .................

book for Hindus.
(1) great (2) sacred
(3) reﬂr}ed (4) remarkable

72.. We were ......... e v v inside the
elevator when it stopped because
there was a power cut off.

(1) trapped (2) jammed

(3) rocked (4) caughb— '
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Direction : (Q. No. 78 to 82)

In the following passage there are some
numbered blanks. Fill in the blanks by
selecting the most appropriate word for each
blank from the given options.

But then I slowly saw that not only was I
not free but my brothers and sisters were
not free. I saw that it was not just my
freedom that was (73)...... but the freedom
of everyone (74)..... looked like I did. That is
the African National
Congress, and that is when the hunger

when 1 joined

(75)......my own freedom bec_ame the greater

- hunger for the freedom of my people. It was

this desire for the freedom of my people to
live (76)...... lives with dignity and self
respect (77)......
transformed a frightened young man into a

animated my life, that

bold one, that drove a law-abiding attorney
to become a criminal, that turned a family-
loving husband (78)......a man without a
home, that forced a life loving man to live

like a monk. I am no moré virtuous or self-

- sacrificing (79)...... the next man,. but I found

that I (80)...... not even ‘enjoy the poor and
limited freedoms I (81).......when I know my
people (82)......not free.

78. (1) briefed (2) trimmed
(8) curtailed (4) shortened
4. (1) who (2) whom
(3 that (4) which
P.T.0.



75. (1) of @) to
3) with (@) for
76. (1) their (2) your
: (3) his (4) our
77. (1) who ) what..
" (3) ‘that 4) this
78. (1) in (2) fnto
(3 to J'(4) with
79. (1) for (2) as
(3) then (;) than
80. (1) can @ could
@) will (4) would

81. (1) em allowed

(2) have allowed
(8) had allowed .

(4) was allowed -

82. (1) were (2) was

(3) are (4) be
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83.

84.

85.

Direction : (Q. No. 83 to 85)

Choose the appropriate phrasal verbs to
complete the sentences.

Jocal residents were angry at not
being .oveevviriiiiniinians on the new
housing proposal.

(1) broughtup (2) brought ddwn
(3) broughtin (4) brought out

Thay iinonis on the last stage of

their journey.
(1) setout (2) setin

(3) set off (4) setup

These shoes are so small that you

(1) getout (2) get away

get into (4) getup

" Direction : (Q. No. 86 to 88)

Select the meaning of the given
phrases/idioms. .
86. Any Tom, Dick or Harry

(1) any threé persons

(2) any person from a western

country
(8) any ordinary person

(4) any one of three different persons



87. Be raining cats and dogs

(1) to be raining with thunder and

lightning

(2) to be falling cats and dogs from
the sky

(3) to be raining on cats and dogs
(4) to be raining heavily
88. Smell a rat

(1) to suspect that something is

wrong

(2) to come to know presence of a rat
(3) tosmell like a rat

(4) to feel an unpleasant smell

Direction : (Q. No. 89 to 93)

Select the most appropriate option to fill in

the blanks from the given alternatives.

89. I have started to jot down the facts in

Bl v R the way- most
people do.
(1) dire (2) dare
. (8) dairy (4) diary
90. This road doesn't .......ccocvvennn. to
Delhi.
(1) go (2) walk
(3) run (4) lead
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91.

92,

93.

A

When we saw a snake in the class

room, our entire class started to

................... in its boots.

(1) quick (2 quake
(3) queaczk (4) queue
We are trying to appoint ...

(1) intelligently (2) heavily

(3) highly (4) strongly

- qualified teachers in our schools.

You will reach Bombay quickly if you

travel by a ......... AR R
(1) quick (2) speedy

(3) rapid . (4) fast

Direction : (Q. No. 94 & 95)

Select the word which means the opposite of

the given word.

94,

95.

Different

(1) indifferent (2) combined

(8) similar (4) separate

Prevent
(1) allow (2) order

(3) command (4) begin

P, T.0.



A

Direction : (Q. No. 96 to 100)

Read the following passage and answer the
questions given after if.

Our earth is like a greenhouse, with one
difference. A greenhouse is encased in glass,
while the earth is encased in a thin blanket
of carbon dioxide (CO,). This carbon dioxide
serves the same function for the earth as
does glass for a greenhouse. _It helps to keep
the earth warm._ Scientists call it the
'‘greenhouse effect’, The amount of carbon-
dioxide in the air is only 0.03 percent, yet all
plant and animal life depends on it. The
percentage of carbon-dioxide in the air is
képt almost constant by a series of natural
processes. We call it the carbon (or carbon
dioxide) cycle.

96. What is a greenhouse ?

(1) A house in which green plants
have been grown.

(2) A case of glass in which fish and

other water animals can be kept.

A building with glass sides for
growing plants that need
protection from sunlight.

A building with glass sides and a
glass roof for growing plants that
need protection from cold
weather. '

3

@

How does the earth differ from a
greenhouse ?

97.

(1) I'{‘he: greenhouse is enéaaed in
glass, the earth in a thin blanket
a - of carbon dioxide.

(2) The greenhouse is' encased in
carbon dioxide, the earth in a
sheet of thin air. »

(34)

98.

99.

100.

(3) ‘The greenhouse is too small, the
carth too big for green plants.

(4 The greenhouse can be carried
from one place to the earth but
the earth can't be carried.

Carbon dioxide sefves the same
function for the earth as .......
(1) The greenhouse dloes f"or glass.
(2) Glass does for the greenhouse.
(3) Glass does for cm:‘,bog‘ dioxide.

4) 'The earth does for carbon dioxide.

élass helps to keep the
greenhouse .........coeeens

(1) warm (2) lighted

(3) cool

(4) safe

The carbon cycle is a series of natural
processes that help

(1) To keep the air free from

pollution. .

(2) To increase the amount of carbon
dioxide in the air.

(8) Mo keep the amount of carbon
dioxide the air almost
constant.

in

(4) To reduce the amount of carbon
dioxide in the air.
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PART - ITI (%117 - I1I)
SCHOLASTIC APTITUDE TEST

ferEs A gheT

Questions : 101 to 200

101.

102.

103.

104,

The correct order of radii of three
species :
_ Ca, Ca*, Ca®" is
(1) Ca> Oy >Ca®
(2) Ca®* > Ca*> Ca
(8) Ca*>Ca>Ca*
4) Ca* > Cd®* > Ca

Read the following statement and
choose the correct option.

(a) Calcium is present in the bones
of animals and human beings as
sulphate

Heating Calcium carbonate to
1070K - 1270K gives quick lime

(b)
(©

(1
(2)
(3)
(4)
Temporary hardness of water is due
to compound 'A' and can be removed
by adding compound 'B'. A and B
respectively can be :

(1) Mg(HCQy),, CaCO4

(2) CaSO,, HCI

(8) CaCl,, MgSO,

(4) Ca(HCOy),,Ca(OH),

Match the Column I and I1.

air

only (a) and (c) are true
only (a) and (b) are true
only (b) and (c) are frue
All are true

I II
(a) Aerosol i, Shaving cream
(b) Foam ii. Face Cream
(¢) Gel . iii. Clouds
(d) Emulsion iv. Jelly

NTSE(Level-1) Exam. Nov. - 2015

Aluminium is not affected by dry -

101,

102,

103.

104,

Frer W elidfer # Prearelt & @@l @
2R :
Ca, Ca*, Ca®
(1) Ca> Cu" >yCa®
Q) Ca™>Ca > Ca
(3) Ca’'>Ca>Ca™
(4) Ca'>Cd* > Ca

ﬁwasmq%aa"’rﬁwgﬁi

() BRI TG g 99T el
3 g 3 ®Y F A o 8

(b) BT FEME 1070K ¥ 1270K
a% T w91 ¥ WEE Al ©

(c)qqﬂﬂﬁwg;&ﬁsm & ywfad el

(D%aﬂ(a)eﬂﬂc)aﬁ%

2) 399 (2) AR Ob) T 2

3) Faw@ (b) AT (c) Tl &

(4) aft gd &

U @ STRIE FORAl & R AE
A ¥ qur 39 Afe B B X g R
ST E/HAT 21 A O B wHI: &

@) CaSO, HCI

(8) CaCl, MgSO,

(4) Ca(HCO,), Ca(OH),
Feg 1 oK I &1 Bew FL

I II

(a) WA i, QT HH
(b) BIH i, %9 @
(¢) & iid.

(d) ZHERTH iy, S
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105.

106.

107.

108.

a b ¢ d
(1) i, i, i, iv
(2) 1, i, 1iv, iil
(8) iii, i, iv, ii

(4) 1, 1iv, 1,

iii

Two oxides of an element contain
57.1% and 72.7% of oxygen. If the
first oxide is MO the second is :

1 M,0 @ Mo,

@) M,0, (4) M,0,

The atomic mass of an element is 19.
The second shell of its atom contain 7
electrons. The number of protons in
its nucleus is :

(1 9 (2) 10

B3 7 (4) 12

Hydrogen gas is not liberated when

Pb is reacted with Conc. HNO;
because :

(1) Pb is less reactive than hydrogen.

(2) Pb 1is than
hydrogen.

more reactive

(3) ’Conc. HNO, is strong reducing
_agent.

(@) Conc. HNO, is strong oxidising

agent,

The correct order of increasing

basicity in the following may be :
(1) Ba(OH), < Ca(OH), < Mg(OH),

< Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),

< Ba(OH),

(3) Ba(OH), < Mg(OH), < Ca(OH),

< Be(OH),

(4) Mg(OH), < Ca(OH), < Be(OH),
< Ba(OH),
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105,

106.

107.

108.

a b e d
(1) iii, i, ii, iv
) i, i, iv, iii
(3) i, i, v, i
@) i, iy, i, iii
T G b o SifEgsi H A 57.1%
g 72.7% SiRieE § A% qed oifEEe

MO B T g9 Sieage &
(1) M,0 @ " Mo,
@ M0, 4 M,0,

Breft @ &1 T & 19 ® e
g B H 7 s & A g A0S

# A& &I e e
(1) 9 (2) 10
@ 7 4 12

Pb & w9 qig HNO, ¥ fF W@ Sl
t A essem T Ad Freeri, =i

(1) Pb eEgeH & &0 Beaii| g
(2) Pb RS A afus frnsdia &

(3) WE HNO, Yaa JIeE® &

(4) |iE HNO, vaq i &

Frsr & Sl g8 &0 wpid F STgEr
el % B
(1) Ba(OH), < Ca(OH),< Mg(OH),
| < Be(OH),
(2) Be(OH), < Mg(OH), < Ca(OH),
: < Ba(OH),
(3) Ba(OH), < Mg(OH), < Ca(OH),
< Be(OH),
(4) Mg(OH), < Ca(OH), < Be(OH),
< Ba(OH),



109.

110.

111,

112.

113.

A gas on passing through ammonical

" AgNO, does not give any precipitate

but decolourises alkaline KMhO,.
The gas may be :

(1) Gl
(@) CoH,

(2) CH,
4) C,H,

ThE chlorination of methané is an
example of ;

(1) Decomposition reaction
(2) Substitution reaction
(3) Addition reaction

(4) Oxidation reaction

The correct name of the following
compound is :

. CH,—~CH- CH—CH,
i |
CzHa C2H b5

(1) 2, 3-Dimethylbutane

(2) 2- Ethyl 3-methylpentane
(8) 2, 3-Diethylbutane

(4) 3, 4-Dimethylhexane

The noble gas which occurs most
abundantly in the atmosphere is:

(1) He
(3) Ar

When Geeta put a copper strip in a

(2) Ne
(4) EKr

gsolution kept in a laboratory, the
colour of the solution turns blue.
According to you the solution can be :

(1) AgNO, (2) Zn(NOj),
®3) NaCl (4) KNO,
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110.

111,

112,

113.

A

UF TG H ST AgNO, ¥ e
ST § Y eEAY W e A W aiE
KMnO, TRF & s 2, 78 | @
Tl B

(1) CuH, @) C,H,
@) C,H, @) C,H,

(1) eTqees AR

(2) faeemes arfipa

(3) waT erffRar

(4) SfrerdieRTr e

frer A 1 @@ T er
CH.~CH —CH-CH,

| |
C,H, C,H,

(1) 2, 3-3EHYRT e

(2) 2-3UTRa 3-Hiarg 9=

(3) 2, 3-3% JeEe A

(4) 3, 4-3F HiUEA AT

¥ wad ofw T o A

amest Tw & ¢

(1) He (2) Ne

(3) Ar 4) Kr

Arar § wEremer ¥ W@ o e o™
afe & gedl Tl O faEs & a1 e
& 1| oUR IR g8 e @ gaw
?: "

(1) AgNO,

(3) NaCl

(2) Zn(NOy),
(4) KNO;,

.20,



114.

115.

116:

137,

118,

If a photosynthesizing plant releases
oxygen gas containing 0" It is
concluded that the plant has been
supplied with :

(1) C4H,,0, containing O'®

(2) CO, containing 0™

(3) H,O containing 0"

(4) Oxygen in the form of ozone

The sequence of cell cycle is :
1) S,G,G,, M

(2) S,M, Gy, G,

3) G;,S,Gy,, M

@ G,,S5\M, G,

An injury in accident has disturbed
regulation of body temperature,
water balance and hunger. The part
of brain effected is :

(1) Cerebellum

(2) Cerebrum .

(3) Medulla oblongata

(4) " Hypothalamus

Which of the following is a group of
hermaphrodites 7

(1) Earthworm, hydra, leech

(2) Cockroach, earthworm, hydra

(3) Earthworm, ascaris, leech

(4) Ascaris, cockroach, hydra

If a rat is given an injection of sodium
iodide with radioactive iodine, then in

which of the following most of iodine
would be incorporated ?

(1) Cartilage (2) Thyroid
(3) Parathyroid (4) Lymph nodes
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114,

115.

116.

117,

118,

yepre] AR A ufFE @ AW A &
dier argrsd § 0" gE SfEdeE A
grear 3, @ s Frepd g8 erm & 9W
T o fem ®

(1) 0% % T CeH,1,04

(2 O® & W™ CO,

(38) 0 & W H,0

(4) SN B w9 T AT .
FIRH T H Tl HA ©

() 8. G, G, M

@ S.M, G, G,

3 G,,8,0C;, M

@) G,,8M, G,

et § 9w W ® FA W A
A fagEen, Ot & dgEd, 9@
iy Fd sl gu) wRasE H BA-E
AT ST g & ?

(1) SrHRE=E

(2) vHikT=s

(3) Ag I

(4) BRI

Prefofya & & @9 1 qYE SRR @l
27

(1) Fgo, &Egl, Siib

(2) FHUT, DY, THH

(3) @gew, Mag, siw

(4) e, B, TR

g A W e IR
ARTH TAEES F EATE RAT A, A
aTfeerier SN el g B ¢ :
(1) Uy

(8) RITENES

(2) YRS
(4) wEHEE



119,

120.

121.

122,

123,

124.

(1) Prothrombin and thromboplastin
(2) “Ca* and thromboplastin
(3) Fibrinogen and Ca™

' (4) Fibrinogen and thromboplastin

In a six year old stem, the oldest
layer of secondary xylem is situated
just :

(1) Outside the primary xylem

(2) Outside vascular cambium

(8) On the inner side of cork
bium

(4) On the inner side of vascular
cambium

The tusks of female elephant are ;

(1) Molars
(8) Upper Incisors

Which of the following is least
effective for photosynthesis ?

(1) .Red light ~ (2) Blue light

(3) Green light (4) Violet light

Which of the following is true with
respect to concept of Biodiversity ?

(a) Biodiversity refers to different
species of flora & fauna present
in an area. -

Biodiversity refers to only the
flora of given area.

(c) Biodiversity is greater in forests.

Canines

(b)

(d) Biodiversity is total mno. of
individuals of a species in given
area, _

D @&® (@ b)&@

3) (a) & (c) 4) ) & (0

Select the group which contains only
non biodegradable items ?

(1) Wood, paper, leather

(2) Polythene, glass, PVC

(3) Plastic, glass, grass

(4) Plastic, nylon, cardboard
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119.

120.

121,
122.

123.

124, .

A

TR OH OFHE S g1 SHA @ uiE
T | Rpae yy e B 7

) wreifa qur gl

(2) Ca™ T aiaramftes

(3) EEEMINE T Ca*™

(4) FEEENT qur giaies

B W QA W H Jdeld omem @)
TIH G OX R @R

(1) Wi SEaT % ame}

@) TEW IeEE 3 T

(3) B I $ afET F AR

(4) TgER e @ ofeT # @R

e B % ogeT REw g 4 98 2
B

(1) =9 @ fred gow

@) I FAF () T

YISl Homer & forg Ffﬁ‘ g P
fI%eq T4 FT YHEATEl §

(1) 99 96T (2) =ﬁan 3T=5[3T

(3) EUTHS  (4)

(1) (a)@f(b) (2) (b)‘lif(d)'

3 (@ e @ OdWEE
Prfifes & & s e aﬁ?{—
Frfieeiia awgel @ 8 ?

(1) s, FITH, FHET

(2) i, zsra, & & @

(3) wfies, @, €9

(4) <Res, FEar, T



125.

126.

127,

128.

At which trophic level,
energy will be available ?

maximum

&
(1) Ty (2) T
@ T, ) T,
A short length of DNA molecule

contains 120 adenine and 120
cytosine bases. The total no. of

nucleotides in this DNA segmentis: . }

(1) 120
(3) 240

(2) 60
(4) 480

In the following diagram, ABC are :

B

c
A B C

(1) - Cotyledon, Plumule, Radicle
(2) Plumule, Radicle, Cotyledon
(3) “Radicle, Cotyledon, Plumule
(4) Plumule, Cotyledon, Radicle

In the figure, the semicircle centered
at O has a diameter 6 cm. The chord

BC is parallel to AD and BC = %AD

The area of the téapezium ABCD. in.

em?, is
B 6
A 5 D
) 4 @ 442
((3) 8 @) 82

(40)

125, Frafefea § @ $9-4 @YX W @i

ot Bt ?
T,
T
2
T,
W T, @ T
@ T, @ T,

126. DNA & o7 & TF 91 @R ¥ TN

T GEAEH ¥ HAM: 120 WA E|
T DNA & THe # o B

RS 89 7
(1) 120 2 60
(3) 240 (4) 480

127. Pr=fafag s § ABC H9: € ¢

C

A B c
(1) SISt ST, THT
(2) iegY, YWigT, ST
(3) TEIgY, T, THT
(4) WGy, T, T

128, SRy § orfaw @ F= O ¥ & AD

s arg & P da g 6 & 3 o
BC,AD-_%W%WB(::%AD%
a7iE ABCD & &=er, a2 & 8 ¢

B c
A = D
1) 4 @ 42
@) 8 4) 82



(41) A

129. In the figure, the radius of the larger 129. arfy & @2 ga & B 2 ¥ am
circle is 2 cm and the radius of the Bl g @ Bregr 1 @ ¥ oY @er a4
smaller circle is 1 cm and the larger Ble T B PR 4 TETRAT 2 ofilar AB &
circle passes through the centre of oo o H B
the smaller circle. The length (in cm)
of the chord AB is :

A - >
h 8
V15
(D e 2 2
; 8
3 g @ -—51“734 2 17
. 130,4};?1jiaterai triangles I, II, III and IV, 130. TEIg %Tﬂ?'[ I, II, III &1 IV 39 9K
“re such that the altitude of triangle ER D Byt I o Bt 11 &t LSl
kI is t.he side 0? tmang}e II, thfa altitude g, B 11 9t S Brgsr 11 %1 sn
of triangle II is the side of triangle III 2 ax F’Tﬂﬁ I & IR B“ﬂ?ff v &
.and the altitude of triangle III is the Gl 3 R ﬁﬁﬁ I % e 2 %’
side of triangle IV. If the area of + F?T. v 2 :
B2 BT H) %
triangle I is 2 em® then the area (in i (e
em?) of triangle IV is : ‘ - .
: ' 3 9 27 45
V3 9 27" 45 W — @=0 =@ =
1) — @2 — B — (4 — 4 ;
(1) 5 ()16()32.()'64 . : 2 ‘16_ .32.. .64

181. AABCis a right angled triangle with |  181. AABC @ . B ¥ Rl

T ZA=90° ZA =90° 5 i 25 z
AB=bcm, AC=acm, AB=b @, AC=a ¢t .
and BC = ccm _ _ T BC=c ¥ B o
A circle is inscribed in this triangle. " | Tah Sield O gu @i T ¥ 1 39 ﬁ% ]
The radius of the circle, in cm, is : - frr, ﬁ"ﬂ_ - B
D atb=c (2 '.%(ai-:-f?‘:éﬂ)_.- 7 (D etbze. Q) oldahre):

@ Sa-brw Ao @ Sa-b+o@ o

AR
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132.

133.

134.

135.

186.

Pentagon ABCDE is such that all five
diagonals AC, BD, CE, DA and EB lie
entirely within it. If the area of each
of the triangle ABC, BCD, CDE, DEA
and EAB is equal to 1 cm? the area of

the pentagon is :
3+ Jg .
-cm”

56
54_2

(1) —*—ucm
5+J5
2

(2

3 m* (4)

In the figure, PQ = QR =RS =SP =
SQ =6 cm and
PT =RT =14 cm. The length STis:

P
¥
Q
R +
(1) 4y10em (2 (T4/3-2) em
(3) 10 em (4) 11cm
" Let by, by, --, byg be the first 19 terms

of an arithmetic progression (AP)

ith b, + by + byy + byg =:224. The
S%um of first 19 terms of the AP is; .
(1) 448 (2) 896
(3) 1064 (4) 1344

If o, p and y are the three zeroes of
the polynomial p(x) = %S — 64x — 14,
what is the value of a® + g2 +v° ?

(1) 36 (2 40 (3) 42 (4 64

What is the remamder when the
polynomial L

plx) =2 - 2019 4 0 _ 28 4 P 1
1a divided by (x—1) (x~2) ?

(1) 1 (2) 7

(8) 2x+1 (4) 6x—b6
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132.

dagsl ABCDE 3@ WaR & % &%
gt f4@t AC, BD, CE, DA 3R EB
zad 9= § & ¥ 3Rk ud% Brgw ABC,
BCD, CDE, DEA 3R EAB & &%
1 &0 &, @ deye W AE €

1 5‘/_ e 3+‘F e
5+~/_
2

(2)

(3) 2 (4) %‘{—_ 2

133, I ¥ PQ=QR=RS =8P =85Q =

134.

135.

136.

6 BT g

PT=RT=14% 2| STH &a1 & :
p

T

R

1) 40 @ (7V3-2) T
(3) 10 T (4) 1184

et Tmiar A0 & wed 19 W by, by,
, by & 3 b, + bg + by, + byg = 224
%laﬂmsﬁvﬁ%q@% 19 G & AT E ¢

(1) 448
(3) 1064

(2) 896
(4) 1344

qﬁagqap(x)—xuaf;x—m & A
ﬂﬁiﬁa,ﬁ@ﬂ'y% @ o+ e +y° &
CIEE S

(1) 36 -(2) 40

3) 42 (4) 64

p(x)=x200_2x199+x6{}_2x49+x2+x+1
B (x-1) (x-2) ¥ A 3] WA
Iy I B !

1 1
3) 2x+1

@2 7
(4) 6x-5



137.

138.

139.

140,

141,

If sin 87° and cos 87° are the roots of
the equation x*— bx + ¢ = 0, then the
value of b% is :
(1) ¢

B8 1- ¢

'(2) 1+ 2¢
4 1+c*
If |[x=y| =1and
X » :
\— = xy, then the number of
9 4
different pairs (x, y), whic¢h satisfy

both the equations simultaneously,
s :

@ 2 @ 3

3) 4 4) 5

One of the factors of
8la® + (x — 2a)(x — 5a)(x
(x~1la)is:

(1) 2*—13a+ 31d°
(2) **+ 13a+ 31a*
(3) x*+ 18a —31a*
(4) x*—-18a+ 31a°

The value of
{3 1a1s
— .—+ S
9 9 9
is:
@) e @ %3
%
Y3 3
3 4
(3) V211 (4 V241

1f :rr». 5+4/21 and y=+5-421

then the value of (x—y) is
1 2421 @ 10
@ V6 @ =6
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137’

138,

139.

140.

141,

A

g% sin 87° X cos 87°, THEH
P-bx+c=0% A E T b F AN
2

1) e (2) 1+2¢
@) 1- ¢ 4 1+c
IR |x-y| =1

Z-m¥

y

WWW(x,y)ﬁmﬁﬁ
9 TN B T qY I FE 8
Frt 2

(1) £
@) 4

2 3

@ 5

8la® + (x — 2a)(x — Ba)(x — 8a)
(x—-11a) & T THES ¢ °

(1) *—13a+ 31d”
(2) «*+ 13a+ 31d’
(3) «*+ 18a— 31a°
(4) x*—18a+ 314’

HOAF B ¢
B @ %3
33
3/3 3
3 4
@ @ P B

IR x=45+421 T y=+5-421

%, g (x—y) 9l I8
1 2421 2 10
® 6 @ =6

Pl Tt 0.

r A



142.

143.

144.

145.

146.

147.

‘ 7
(3) 18

et x be the greatest number by
which if we divide 366, 513 and 324,
then in each case tie remainder is
the same. The sum of digits of x is :
1 3 4 @G5 @7

If a number m is divided by 5 leaves a
remainder 2, while another number n
is divided by 5 leaves a remainder 4,
then the remainder, when (m + n) is
divided bv 5 is :

m1 @2 @GB3 @ 4

If 3 sind + 4 cosf = 5, then the value
of 4 sin® — 3 cosB is:

I -5 (2) -2

@) 1 (4) 0

Consider the points A(=5,-1),
B(- 1, 0), C(1, 2) and D(3, 3). Let P be
a point such that d = PA” + PB* + PC
+ PD?. The least possible value of d
is:

(1) 28 (2) 30 (3) 32 (4) 34

I play a game in which two dice are
thrown together. I win if the product
of the two numbers appearing on
their tops is odd or a multiple of 5.
The probability of my winning is :

1 5

i ) P
(1)3 ()12

1
(4) 1

A solid metallic sphere of radius r is
converted into a solid right circular
cylinder of radius R. If the height of
the cylinder is twice the radius of the

sphere then : o -
/2
J3
J3r
V2

(1) R=r

(3) R=JZ; 4) R=

2 R=
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142.

143

144,

145.

146.

147.

e B x 98 99 ¥ S gen ¢ Rl
I &9 366, 513 3K 324 & WA &, @
o Reafy § Qv que ¥1x % o &
e

M3 @4 B56 @7

R HE om F 5 W WRT &9 W A9 2
R der n B 5 U WA 3 W 4 A9
m%,fh(nwrn)q%sl{ﬁméﬁqt
A B J
M1 @2 B3 @ 4

a7 38inb +4cosb=5 %, GE|
4 sinf — 3 cosd & HF & °

1) -5 2 -2

3) 1 4) 0

figall A~ 5, — 1), B(- 1, 0), C (1, 2) &IX
D(, 3) W fER #HFY) o w &g P
56 ¥R & f5 d = PA? + PB® + PC* +
PD? @ d %l ~g7qW €9 A ©
(1) 28 (2 30 (3) 32 (4) 34

¥ uw A9 O ¢ P & 9l B 0
Ay G o g1 ¥ Sig Srem, afR
Ul & SUX ST gEell H PEnd O

R @ & a1 5 & TH 21 AT Sl
# wif¥er & :
1 5
(1)”'3“ (2)E
7 1
(3)I§ (4-32




148.

149,

Match the table I with table II and
select the correct response from the
options given thereafter :

Table I Table I
(a) Louis XVI (i) 1792-93
became the '
king of France
(b) Convocaftton gf (1) 1804
Estate General
(¢) France became (iii) 1774
a republic, the king
was beheaded
(d) Nepoleon became  (iv) 1789

emperor of France
a b c d

(L i, i, i, iv
) ii, w, i

(3) iii, iv, i, ii
4) iv, i, i, i

Match the table I and table II and
select the correct response from
option given thereafter :

Table I Table I
(a) Montesquieu (i) Social
- Contract
(b) Rousseau @Gi) Mein
: Kemph
(¢) Karl Marx (iii) Das Capital
(d) Adolf Hitler (iv) The Spirit
of Laws
a b ue d
@) iv, i, i, i
@) i, 1, iv, il
@) i, iv, i1, 1
(4 i, i, i, iv
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148. aiferer 1 & arferer 11 @

149.

A
ghi B

M Ru T feedl d @ @@ fawe @

Tgq FHf
it 1 afeesr 11
() g3 XVI | & () 179293
MESH T ‘
(b) TET S (ii) 1804
H STEA '
() Wig s (iii) 1774
ST, ST
X R Rar
(d) SqfeET Hid (iv) 1789
FH STE T
a b c d
(1) i, i, i, iv
@ i, iv, i, iii
(3) iii, iv, i, i
@ iv, i, i, i
aifeer 1 & @it 11 § gAfva BT M
o R § € gal fweq & 99
FifsTa -
e 1 arfee 11
(@) Wiy, @) . W Bige
() =@ () W|IFE
(© e gEd (i) T B
@ W Gv) T RaRe
feee A
.a b _c d
(0 iv, i, i, i
@ ii, i, iv, iii -
(8) i, iv, i, ii
Wy s, 65, ¥ .w =
P.T.O.



A

150. Which of the

151.

152.

following forest
communities is wrongly matched
with the place of their living ?

(D ganthals — Jharkhand
(2) Oraon — Nagaland
(3) Gonds — Chhattisgarh
(4) Korava —  Madras

¥  Presidency

Which of the following statements

does not match the Nazi thinking ?

(1) Government should be dictatorial
and anybody opposing it should
be dealt with firmly.

(2) All the Jews living anywhere in
the world must be hated.

(3) Democracy and international
peace should be promoted.

(4) Germans are the best race in the
world and therefore, they must
rule the whole world.

Consider the following statements,

and identify the correct response
from the options given thereafter :
Statement 1 : Over half of the
world's total pastoralist population
lived in Africa.

Statement 2 Masai land was

divided in two parts — the British

Kenya and German Tanganiyike

(1) Statement 1 is false and
statement 2 is true.
(2) Statement 1 is true and

statement 2 is false.

(3) Both statement 1 and statement 2
are true and statement 2 is the
correct explanation of statement 1.

(4) Both statement 1 and statement

2 are true but statement 2 is not

.the correct
statement 1.

" NTSE(Level-1) Exam. Nov. — 2015
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150, F=fofag § 4 @9-@ 99 999 819

@ % @ A gk 7R 7

(1) qus - EREs
(2 R -  AFas
(3) s - TUETR
(4) E - HEE JEEd

151 frdffeg ® @ @A gaE T

frEmamr @ ne 787 @ ?

(1) TXHR, e @& & el =iey
o o s oA gEer Ry R IEd
gl A Y9 ST AR |

@ g § fREd f WA W R a9
Fgfadl | THE HCU AR

(3) SeTEE Ul SRy et # FeEn
347 =feT |

(1) o P F T T & A e
ggf 3= O g WA
ST dMied |

152. Y Ru Q0 e @ o9  © &R

i Ru et § & el e @
g FIoY

gFTey - 1 faga @ oM | SUET TR
TErE SThE | T A

qFTE - 2 TER YWE & e A
frmferg ar - Rfesr @fr qw s
CAIEEDS

(1) T 1 7o &, 9998 2 T8l Bl
(2) T 1 GE B, a9 2 T ¢

(S)ﬁaﬁmeﬁ%.mwz'
Tad 1 & g8 e B

(4) AN g wel & g awe 2
g 1 @ wE e T e



153.

154.

| (a)

(b

Consider the following events related
to the National Movement of India
and identify the correct chronological

response from the options
thereafter :

given

(a) Chauri Chaura incident

(b) . Rowlatt Act

(¢) Non Co_operatibn Movement
(d) Jallianwalla Bagh incident
(1) a,¢ b, d (2 b,d ca
3) d,e, b, a (4) c,a,d, b

Match the table I with table II and
select the correct response from the
options given thereafter.

Table I  Table II
(Symbols)

Broken Chains

(Meanings)

(1) Beginning
of the new
era

Crown of Oak
leaves

(ii) Being
Freed

(c). Olive branch
around the
sword

(iii) Heroism

Rays of rising -
sun

(d) (iv) Willingness
to make

peace
a b ¢ d

i, #n,

i

(2) i, iv,

@ iv, 8, § i

(4) i, i, iv, i
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(c) OTHRIN IT=RIET
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(1) a,¢c,b,d (2 b,deca
3) d, e, b, a (4) c,a,d, b
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A

155.

156.

Consider the statement given below
and select the correct explanation
from the responses given thereafter :

Statement : In 1907-08 some 300
Vietnamese went to Japan to acquire

modern education because :

(1) They wanted tg geﬁt lucrative
jobs.

(2) To
conditions in Vietnam.

(3) "To  drive

Vietnam.

avoid unstable political

out French from

(4) To enjoy modern lifestyle.

Consider the following statement and
identify the incorrect response from

the options given thereafter :

Statement : Effects of the Great

Depression on the Indian economy -

were.

(1) India's export and import nearly
halved between 1928 and 1934.

(2) Wheat prices in India increaseci
50 percent between 1928-1934.

(3) India became an exporter of
precious metals, notably gold.,

(4) Landlords and middle class
salaried employees in cities found
themselves better off because of
falling prices.
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157. Which of the following options best

158,

159,

explains the sumptuary laws ?

(1) The laws that prohibited wearing
short skirts.

(2) The laws that declared that silk
clothes could not be used by

peasants

(3) Zﬁz laws that controlled the
‘behaviour of the “socially
inferior”.

(4) The laws that prohibited the
socially superior class from
wearing cotton dresses.

Consider the statement given below
and select the correct response from
the responses given thereafter :
Statement : Simon Commission was
opposed by all the political patties in
India because :
(1) It was not in favour of complete
(2) independence

It proposed the communal award

(3) Iiresisted economic reforms.

(4) It consisted of all white members.

Consider the following events related
to Print culture and identify the
correct chronological response from
the options given therecafter :

(a) Buddhist missionaries from
China introduced hand printing
technology into Japan around
768-770 AD.

(b) Gutenberg perfected the system
of Olive Press.

(¢) Marco Polo brought wood block
printing technology to Italy.

(d) The earliest kind of print
technology = was developed in
China.

(1 b, & d a

(2) ,.d’ a, ¢ b

3) a, ¢ d b

@b, d a ¢

td
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160.

| 3
id . <

161.

Consider the Statement given below
and select the correet explanation

from the responses given thereafter.

Statement : Women workers in
Britain attacked the Spinning Jehny

because :
(1) Factory owners ill-treated them.
(2) Wages were inappropriate.

(8) 1t reduced labour demand and
they feared they would be
deprived of their jobs.

(4) Working hours increased.

Consider the following statements
and identify the correct response
from the options given thereafter :

Statement I : The first Cricket Club
in India was started by the Sikhs.

Statement II : Mahatma Gandhi

condemned the Pentagular

tournament.

(1) Statement I is false and
statement II is true.

(2) Statement I is true and

statement II is false:

(3) Both statement I and Il are true
- and statement II is the correct
explanation of statement I.

(4) Both statement I and statement II -

are true but statement II is not
correct explanation of statement 1.
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162. Consider the following statements
and identify the correct response
from the options given thereafter :
Statement I : The p'oppla.tinn\of
London expanded due to
industrialization.

Statement IT : Well-off Londoners
“* “supported the need to build houses
for poor.

(1) Statement I is false and
statement II is true
(2) Statement I is'. true ' and

statement II is"lfaise.
(3) Both statement I and statement
IT are true and statement II is
the correct explanation of
“statement 1.
Both statement I and statement
II are true but statement II is-not
the correct explanation of
statement J.

(4)

163. Which is not a natural ecosystem ?
- (1) Desert (2) Aquarium
(3) Forest (4) All of the above
164. Match the following :
(2) Mushroom * (i) Glacier
(b) Ox Bow lake I(ii) Seawater
(c) Stecks (iii) Desert
(d) Morains - (iv) River
a b .e d
% §H i, v
- (2) i, i, i iv
(8) iii, 1iv, i, i
@) iv, i, i, i
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A

165.

166.

167.

168.

169.

—

What is toucans ?

(1) Name of staple food
(2) Name of a bird

(3) Name of river

(4) Name of a mountain peak

Choose the correct option of the
following in order of distance from
the sun:

(1) “Earth, Mars, Jupiter, Saturn

(2) Mars, Jupiter, Saturn, Earth

(8) Jupiter, Mars, Earth, Saturn.

(4 Mars, Earth, Saturn, Jupiter

The speed of the earth movement at
the equator is :
(1) 1665 km/h
(2) 1680 km/h
(3) 1669 km/h
(4) 1660 km/h

Western Coast strip South of Goa is

known as:
(1) Malabar
(3) Coromandal

(2) Konkan
"(4) Syhadri

Choose the correct pair :

(a) Trade wind - (i) Horizontal

- movement of
air
Seasonal
wind

(b) Loo (i)

(&) Monsoon  (iil) Permanent winds |

(d) Wind (iv)
a b ¢ d
O i, i, i, iv

Local wind

(2) iv, iii, ii,
(3) iii, iv, i, 1
4) i, 1, jv, iid
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170. Which is the deepest lake of the

171,

172,

World among the following ?
(1) Victoria lake

(2) Superior lake

(8) Baikal Jake

(49) Huron lake

Surface feature with, more than 700
meter height is known as :

(1) Plain (2) Mountain

(3) Plateau (4) Mound

In the given map Wild Sanctuary are
marked withabed.
Choose the correct order.

T
s i\“ﬁf

df“f/ '
8
(a) Kanha Kalsi
(b) Chandraprabha
(c) Atunagram
(d) Chandaka
(a) Chandraprabha
(b) Kanha Kalsi
(c) Chandak_a\
(d)

(1)

(6]

Atunagram

(a) Atunagram

(b) Chandaka,

(¢) Chandraprabha
(d) Kanha Kalsi

(a) Chandaka

(b) Chandraprabhg
(¢) Atunagram
(d) KanhaKalsi ==

3

(4
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(d) -
(a)
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173.

174.

175.

176.

Choose the correct pair :

(A) Jammuna Pari (i) Sheep
(B) Jefarabadi (1) Cow
(C) Bhakherwal (i11) Buffalo
(D) Tharparkar (iv) Goat

A B C D
(1) iv i i 1
@) ie i 1 i
3) i iv o 1
(4) 1 i v 1
Which is chief producer of silver in
the following ?

(1) Australia (2) Mexico
(3) USA (4) France
Choose the correct pair :

(A) Veld (1) Venezuela
(B) Llanos (i) Asia

(C) Compass  (iii) Africa
(D) Steppe. (iv) Brazil

A B C D
()i # - I8 w

(2 i W iv 1

(3 i i iv i
(4 #i i i iv

In the given map 'X' denote :

(1) Mount Isa

(2) Broken Hill

(3) Haimershley Hill
(4) Waieps Hill
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177. Match the follow ing :

178.

179,

180.

181.

+ (1) Chandigarh (2) Lakshadeep

~ the following Political Party ?

(55)

(A) Beri_naag Lake (i) J&K
(B) Malataal Lake (ii) Tamil Nadu
(C) Pulkit Lake (i) Maharashtra
(D) Lonar Lake (iv) Uttrakhand
(Uttranchal)
A B ¢C D
1) i i i iv
(2 i iv i i
@) W i i iv
4 i iv i iii
After bifurcation  which of the

following state, Telengana state come
into existence ?

(1) Jharkhand

(2) Andhra Pradesh

(3) Maharashtra

(4) Arunachal Pradesh

Name the union territory from the
following which has its

Assgmbly ?

own

(3) Pondicherry (4) Daman & Div
The word 'Left' is used for wlﬁch of

(}) Bhartiya Janata Party
(2) Socialist Party

3)° Communist Party (M)
(4) Congress Party

By which constitutional amendment
two words, 'SECULAR' &
'SOCIALIST* were
preamble of the conspftution ?

(1) 44th (2) 39th b
(3) 42nd (4) 52nd ‘
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A

182. Which of the following statement 18

corpett?
_ (1) Haryana, UP and Punjab have
bicameral Legislatures.
(2) UP, Bihar
Kashmir

and Jammu &

have bicameral
Legislatures.

(3) Jammu & Kashmir, Raja';{han
and Himachal Pradesh have
bicameral Legislatures.

(4) Bihar, Tamil Nadu & Kerala

have bicameral Legislatures.

183. Economic growth plus change means:

(1) Sustainable development

(2) “Economic development

(3) Increase in national income
(4) Increase in per capita income

184. Why did the government shift its

strategy from long term to short term
programmes to
unemployment ?

(1) ?.;ack of funds

(2) Large scale corruption

remove

(3) Luke warm response from the
state governments

(4) Long term programmes takes a
long time to implement

185. What do you mean by collateral ?

1 It is the total sum of money with
a person

@ It is things kept in the locker

@) It is guarantee given by the
borrower to the lender "

@) 1t is the security to a lender until
the loan is repaid
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186. Which of the following statement is
not true regarding the world trade
organization ?

(1’1t allows free trade to all

. countries without any trade
barriers.
(2) Tts aim is to  liberalise

Jnternational trade.
| 3 It establishes rules regarding

international trade.
(4) ' W.T.O. rules have forced the
\ developing countries to remove
trade barriers.

187. Right to choose, Right to seek
redressal, Right to represent and
Right to be informed, are :

(D , Fundamental rights .
(2 Consumer rights

(3) Fundamental duties

(4) Consumer movement

188. A body is dropped from certain height
from a uniformly ascending balloon.
The correct graph showing variation
of velocity with time for body is :

M /
§ 2
@ L
%
@ lr
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189. A thin uniform metal rod of mass 'm'

-(58)

and length 7' standing vertically is
now allowed to fall due to its own
weight. The velocity with which its
mid-point will strike ground will be :

LW ,I%gl @ f5gl

©® gl ) -i—_gr'

Two beakers P & Q are filled to the

brim with a water at.4°C. Beaker P

is heated while Q is cooled.. What is

expecped in these beakers now ?

(1) ﬁtet will overflow in both

beakers

(2) Water level will go down in both
beakers

(3) Water will go down in P &
overflow in Q

(4) Water will go down in Q &
overflow in P :

A person sees a jet plane flying from
east to west. When the plane is just
above his head, the sound of plane
appears to reach him at 60° with
horizontal. If the velocity of sound is
v, then velocity of jet plane is :.

(1) 2v '

J3

(2) “'2—\’

2

NG

v
. =
(4) 9

&)
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192,

193.

194,

If current through a resistance is
increased by 100% simultaneously
reducing resistance value to 25%, the
new power dissipated will be

(1) No change

(2) Increased by 100%

(3) Decreased by 400%

(4) Increased by 400%

A resistance wire of uniform ecross
section is in the form of a ring. The
two diametrically opposite points are
connected through a source of emf via
an ammeter. A conducting wire is
now connected across AB, A;B, &
then A,B, , one by one, if ammeter
reads I}, I, & I, respectively :
Ay

4
‘B, L.
(1) .I1 = Iz > I (2 I; = I1 > Iz

@) Li=0,L,>I; 4 I;=01<I,

Identify the devicevused as spherical

mirror or lens in the following cases

when the image-formed is virtual &

erect in each case : -

A Object is placed between device
& its focus, image is enlarged &
behind it.

B Object placed between focus &
device image formed is'enlarged &
on the same side as that of object.

A B

(1) Convex lens Concave mirror

(2) Convex mirror Convex lens

(3) Ceneavemirror Convex lens

(4) Toncave mirror Concave lens .
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195.

196.

197,

Magnetic field
A 1; A A T

» Electron

» Proten

N
A uniform magnetic 3ﬁel(‘.l exist in the
plane of paper pointing from bottom
to top while a proton & an electron
are moving from left to right as
: The
experienced by them will be :

(1) Outwards for both

shown in figure. force

(2) Inward for electron, outward for
proton

(3) Inward for proton, ou!;Waf& fot
electron

“(4) Inward for both

Most of the refraction takes place at
when light enter the eye.
(1) Pupil
(2) Iris
(3) Outer surface of cornea
-
(4) Crystalline lens

In air the speed of gduhd is 840 m/s.
This means that in one second :

(1) Sound source moves 340 m
(2) Listener moves 340 m
(3) Air disturban;::e moves 340 m

(4) Air moves 340 m
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195.

197.

196:

=
.
L

REER @ §9F g9E 83 & F
g ¥ Y ¥ R @ e JRfE g
T N 3 O e At @ A ol
e &1 39 oX IARE S/ BN

(1) A W A B AR

@ FAEF | ], M T A @

(@) RF W ORT, WEH W A A
3T

“(4) I W I @ AN

Sie TS offEl # sAY war 8, adied
(1) = 3

@) mRd A

@) FEH # el T w

@) fredy g q

g A @ A A 840 /s ¥ FH
e o dFvs H

(1) = Bia 340 W =R &

() ovr 340 # = ®

(3 ag ¥ R 340 =@ @
(4) arg 340 W TEH ¥ -



199.

198. An aluminium sphere is dipped into
If B, and By the
buoyancies in water at 0°C and 40°C
respectively, then :

water. are

(1) B; < By
(2) B;>By

(3) Bl’ BII

(49) B; > or < By, depending upon the
radius of the sphere '

Three blocks of masses m,, m, & m,
are at temperatures 0, 6, & 6,
respectively. Assuming all of same
metal & there is no loss of heat to
surroundings find the equilibrium
temp (0) if all the three are brought

in contact
(c = sp heat of metal)

m,0,c+m,0,c+m,0,c

(D) 6= ;
m, +m, +m,
@ 6= m,0, +m,0, +m,0,
m, +m, '“.'nS_-. "
@ g=01t0:+0,
3
@ 0= m,6, +m,0, +m,0,

3(my +m, +my)

NTSE(Level-1) Exam. Nov. - 2015

(61)

198.

199.

2 0=

A

e o A, o g

T IR B, Td By HEM: 0°C UE 40°C
wwﬁmrawé‘r ar e

(1) B;<By
(2) B, >B; !

(3) B;=By

(4)3[,13“%:5#211&#‘&125,%3%

B o sk e &

m,, mgﬁmmam%-fﬁqﬁ“g
FHA: 0,, 0, AL 6, AT T & | T HI
& wdl @ & oy B a9 ¥ oo @
g 3 afa T P, Eﬁ#fi@fﬂm&ﬁ

AN W APIEET a9 8
(c-angaﬁﬁ*rfﬁmm)

m,6,c+m,0,c+m,0,c

1) 6= :
my; +m, +m,

m0; +m,0, +m,0,

my+m,+mgy
@) 6= 0,+6, +6,
@) 6= m,0, +m,0, +m,0,

3(m, +m, +my) -



200. A body of mass 2 kg is free to move
along x-axis. It is at rest at t = 0.
From t = O onwards it is subjected to
a time-dependent force F(t) in
x-direction. The variation of F with

time is as shown :

F (114\
4N

=
(..
s el I'S- _4.5sec

5 39'e\t\i1\ >t
i
il

The change in momentum during

(62)

200. 2 kg # T ARG x-oW B TR T
%ﬁmﬂﬁﬁ%lt=0¢{%ﬁ'ﬂﬂﬁ
ff qu @ W T @ STHRG W
F(b), x 2 § M| 8 F & i D
g uRed e § Ream TR

F (OA

4N

4.5seC o
Y >t

° 335\

w%mmﬁqﬂaﬁ‘m

journey is (in N-g) : (N-s ﬁ) :
(1) 4.50 2 1.50 (1) 4.50 (2 1.50
" (3) 5.06 (4) 14.06 (3) 5.06 (4) 14.06
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1.

12.

13.

14.

15.

16.

17.
18.

18.

20.

Answers to questions in answer sheet are to be given
by darkening complete circle using Black/Blue ball point
pen as shown below :

© @

The answer will be treated wrong, if it is marked, as
given below :

@ ® © ©

If you fill more than one circle it will be treated as a
WIong answer.:

. Rough work should be done only in the space provided

in the Test Booklet for the same. L3

. The answers are to be recorded on the OMR Answer

Sheet only. Mark your responses carefully. No whitener
(white fluid) is allowed for changing answers.

Out of the four alternatives for each question, only one
circle for the'most appropriate answer is to be darkened
completely with Blue/Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not allowed to

be changed.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anyihere else except
in the specified space in the Answer Sheet.

Handle the Test Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Test
Booklet and Answer Sheet Serial No.), another set of Test
Booklet will not be provided.

The candidates will write the correct Number as given in
the Test Booklet/Answer Sheet in the Attendance Sheet.

Candidates are not allowed to carry any textual material,
printed or written, bits of papers, pager, mobile phone,
electronic device or any other material except the Admit
Card inside the examination hall/room.

E_ach' candidate must show on demand his/her Admit
Card (Roll No.) to the Invigilator.

No Icandida{e, without special permission of the
Superintendent or Invigilator, should leave his/her seat.

Use of Electronic/Manual Calculator is prohibited.

No part of the Test Booklet and Answer Sheet shall be
detached under any circumstances.

On completion of the test, the candidate must hand over
the Answer Sheet to the Invigilator in the Room/Hall.
The candidates are allowed to take away this Test
Booklet with them.

Since the time allotted to the three parts of this question-
paper is very limited, you should make the best use of it
by not spending too much time on any question.




